Military

Espafiol

A military column of N soldiers, is training and marching, numbered as follows, when six soldiers:
6

5

2
1

When an officer calls formation, they must act quickly to complete formation in K columns indicated to them, for
example if the officer indicates do training in 2 columns, would be as follows:

36
25
14

In the example above, soldier 5 when called to formation, would be in row 2 and column 2. Obviously the military must
be very disciplined and always form in an orderly fashion, the first soldiers will always be in the first column, then next
in the second column and so on until column K is completed as ordered by the commanding official.

Input details:
The first line will contain 2 integers, N,K, Followed by a X number of soldier. N will

always be exactly divisible by K.

Output details:

The row and column in which the soldier who was called to formation is in.

INPUT OUTPUT
153 32

Constraints:
0<N<=1000000
0<K<=N

0<X<=N


https://docs.google.com/file/d/0Bwn4h1SveWo1d01oNVJwVW41bVk/edit?usp=sharing
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